TAMILNADUOPENUNIVERSITY

Chennai - 15

School of Management Studies
ASSIGNMENT

Programme Code No :1151
Programme Name  :BCOM (General)

Pattern : Semester IV

Course Code & Name: BCOS — 41 & Principles of Marketing
Batch : CY 2022

No.of Assignments : 2

Maximum CIA Marks : 30 ( Average of Total No. of Assignments )

ASSIGNMENT -1

Max :30 marks

Answer any one of the question not exceeding 1000 words

1.

Describe various function of marketing and role of marketing in economics development.
FhewsLILBHSHleT  LVGum GQFwesoLrhser wHMID  QuUTHeTTSTT  sueriddlullev
FhewSLILI(HSHH606IT LikIend aleuifldas.

What is channels of distributions? Explain the objectives channels of distributions and
it's importance .

aupBiser auifl eTaTHT ereiren?  eupiiseT eufluller CBTHESRIGET WHMID D|F6T
WSHwsgiend L aflerdds.

Explain the various kinds of Pricing and Pricing of new product.

allemev  pliewrwgsler LLGUM eUewEBHeaTud LOHMID LSl GlurmL sefler ailsmev

BlTeRTW S S6T allerd @ db.
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1. Explain marking approach and Marketing Information System (MIS).
Fhemgullwed eI pern whib Fheosullued sseusd el (MIS) upml
allemd &b,

2. What are the factors influencing buyer behaviour?

BrarGauri euriigLefsT HL_Semsenul LITSdE @D STrenissr wrene?

3. Explain Product Life Cycle and its stages.

LT (H6T UTPHeNs HIPMHF LHMID HSH6IT BlewsvHewer ailerd @ d.
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1) A company issues 1000 equity shares of Rs. 10 each at par. The issue was
underwritten by J & Co for the maximum commission permitted by law. The public
applied for and received 800 shares. Give journal entries in the company's books.
BImiwid1000 srgrrewt uBiGsewer LG parmisd 510 afsd seT LaHwHILieL
Qeuafluill_L_g. Blmiwid 1000 Frgrrenrd uBiGsemer LkIE earmisd .80 alldsbd
oipar swdidd Qeelull g oL sHpbe Ul Sfsurs s
DHSSILL L gl QUITEIGHERSEG TOHsHF G’ ® 800  Lmkigassr
Cupliul L g, BlGLoggler o7 1g6d CHTeTméem g GUILIGUL G Ugleneal 55s%.
2) Compute the amount of goodwill on the basis of four years' purchase of the last five

years' average profits. The profits for the last five years are :

Years Rs.

| Year 15,000
Il Year 18,000
Il Year 22,000
IV Year 25,000
V Year 27,000




BHGILWAeT FliewL BTeTHTeT(H ClBTET(LPHV IigliLienL _uilsd gbg 60T (hd @ Frme]

BVTUTHNS HTWTSH. HL_Hd Wbl 6 (HL_BISEHSHETET (J)6VMLIBIS6IT

QU (HL_LD CHLITLL
(PBEV QLD 15,000
GrewnrLmid aupL L 18,000
CLPSTMTLD &M (LD 22,000
BTSTHTID QLD 25,000
EbSTIOAI(HL-LD 27,000

3) What is meant by profit prior to Incorporation? How it is treated?
BIMIUSTLOWILTSSVIGE (PHDSW @)eVTLILD 6TTMT6Y 6T6IT6T ! B|g| 6T6UGUTM)| &HEUTdhd56D

6T (hS 156 ETererILHS G ?
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1) Explain the types of underwriting.
TS SBIMIB] UHBEHEWET l6Td: 5.

2) From the following information calculate the value of goodwill on the basis of 3 years
purchase of super profit.
e Average capital employed in the business is Rs. 20,00,000
o Rate of interest expected from capital having regard to the risk involved is 10%
o Net trading profits of the firm for the past three years were Rs. 3,50,400:
Rs.2,80,300: Rs.3,10,100
e Fair remuneration to the partners for their services is Rs. 48,000 per annum.
e Sundry assets of the firms are Rs.23,50,400 and current liabilities are Rs. 95,110
Ulsiteumid sseusvseaflsit g liten_ulls 3 gy eant(hsaflsd HFls GevrLidbens
QUTHIGaUBET 9)iqliLenL_ufled pH@LIWIT A1 LIS FHewTdsd B BissT.
o alwrurrsgled LweTu®SSLILIRL Frred cpsvgerid cp. 20,00,000
o wpsaTEAHhHGI TATUTISSILGD aut’ 1q eNdsib, FDLBSIILL L G)L_eoy
shGFev QEmesst® 10% =y @Lb.
o EL 5 et YewT(hsefled Flmisustsgler Blar suisss @evrun ep. 3,50,400:
e5.2,80,300: ¢5.3,10,100
o LUBIGSTTTHEHS G auisaflst CFemealskehd @, B TuILOTeT 2argluild

suynisLiu®F g op. 48,000 supLsHn@



¢  pimjsusstmisafler LLVGaum) CFTggisser 5.23,50,400 wHmid HL iy QuTmiliyser
ep. 95,110
3) From the following particulars, determine the maximum remuneration available to a
full time director of a manufacturing company:
The profit & loss account of the company showed a net profit of Rs. 40,00,000 after

taking into account the following items:

Rs.
Depreciation (including special depreciation of Rs. 40,000) 1,00,000
Provision for income tax 2,00,000
Donation to political parties 50,000
EX-Gratia payment to a worker 10,000
Capital Profit on sale of assets 15,000

Ulstteupid efleurmiseafled b, sph 2 HuSSH BmieusTsSler pp ChI @)uids @ ev (hd&Hd
HEWL_& G P HULF sargGlwiGengd & TLoMest%HHeLD:
BmieuesT&SlesT @)evmLh wHMID L L& sewrd@ Blar @svrui er. 40,00,000 LNsireoumid

2 _(HLILIGHEMET HeTHEI6V 6T(H5G1%H01%TewTL LM @):

e
Gzliorers (Amriy Gsiinoreriv o 1L er. 40,000) 1,00,000
aupLTeT ST 951ELH 2,00,000
DT> B A @@ HETOSTEL 50,000
Qs mifeorens e, srhsv-drrafur QFa)ss s 10,000

QFTHZHISHHmer allhLener ClFieusled (hbgl HlewL_d @ pevger @eorud 15,000
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1. Discuss types of computers on the basis of purpose, size and technology.

@Brésid, Herey wHMID CSTLLBIL LGS g liLienL_ullsy Eenflef]l suswEEemearTLi

upm] eileurslss.
2. Define mail merge and explain the stages involved in performing mail merge.
Eoulled GloTel suewTwMISSI, Clouilsd GClie GlFiIeuFlsL 2 sTar Blewsvsemear allard @db.
3. Explain three services of internet and state e — mail.
@)ewenTwiG 6T cpsiTm CFemeussr HMILD LO6STEITEHFL LIHM] dn M.
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1. Define spread sheet and explain advantage and disadvantage in spread sheet.
allflgmer suewrwmiGHe0 wHMID ailflgreaflsy BeTewio LHMILD HewLOHE6T aleTd: & d.
2. What is the difference between internet and interpret?
B)wemTiSSMH G0 ailensasdsSn @ eTeret ailgslwreFin?
3. Briefly explain the multimedia presentation.

w6V LB wT ileTdEssHTL_Flewi H(HHaHTs allards .
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